&[simz{ors

—] e e

SHIIE Y ur
IsE 281 % 7|A ORI, [HE 6] EHO| WHI|E

- OF 2{x{7|20] Fe}12°C 0[87+ 22 04t KIAE 20| oAt o
oHi} 0|5 - OF 2{X{7|20| FECH10°C 0|4} 5125101 3°C O[310| T BT} 3°CT} 4 WO OIAIE
- BB HLHNOR Friet 7t ol AE of

=

- OF&l A|x47|20| ¥et 15°C 0517} 22 0|A¢ XI&E 20| ojarel o
- OF& %/ X{7| 20| ML 15°C 0|4t 51213101 3°C O[3}0| T WARHEIC 3°CT} RS HO= oflAtE mf
- 323t HesAoR FH9Ish X0l M Fhe 1ot oAl of

g oigE 2

- ofz 20| 22 YoHR.(3

« BX} = E7E AR

= T L=

< HRA 21 YS 7t2|= 0IA3E AESHMIR.

2e xgol

= =4
= A
-gs =B

[ ]
rlo
N
or
o

rg2 4
fjo
igal
Ral
ng i
BN
rx i

Mo HI
2 i

Xp7h A2 TSEst RSt 28 O = UESE S Q.

= 5ot A4S DFHSHAIR.

At Tk R0l EXISHA L.
HHUEK = SHfLE R7IA S5 S| 2247 gl=S HX|SI0{oF BILICE)

oo

Sloll =1 GITEXIE & Aokl

2t 5)E A= ZLES L ZXE = A=S SHMIQ.

MEHE SAI2 =RI5HAR.
[SX3t, A=, DB}, XAt S

AOIEZO[A = "RFHC|HE (BHAS), "M LE|0|(7|&48) A2 Sdl

720 &, 84 WIIUSE 4ES & AFLICE




Torl Ol

orl ol
Rl 0
70 o

ol o___m
RU @
70 o

LIEt,
LICt,

SH
=

S
=
7153 x| A}
SH
=

L|CF.
=5 | Aof

3

stz =2

[2=3
B, I3 Z0| ZX|SHM|R.

510f Q27| 2O Z 0|&5HMIR.

fLiCt.

LR E= B2 0] S
S
=

i
—
=

F
S
)
Al
(i)
[e2]
HA

=
=

(=
Lict)
T5k FX| &L

2t

0| LIEFt
13| 1190]|

At
2 O
= T

H
CHS2t 20| ZX[SHHIR.

= W01 71 &R
A s5= =9

Py
X}
st

St
=
Sa=X| 23

O] LIE
* X|20] 35°C D|ZHO| AL} O A4 A|

40| LIE
HELICE
=

H
* X2 AlZHH 29
L

HF

|

=

S
OHA
—lliln_'

=
[

=

=
o
LI ALO[o]] 7ML

L|Ct
© FRARICHAME)oll=
o ZA[ZICH(M) O

=
=)
=
=

i

A2 0|SA|7IM|R.

(=3
x|
=

£
IRNE=E=S
A
T HAZE

ot
91 s W MoK gis o 2k

L|Ct.
ABtHR. (R
ORARX|SHO]

t

-
o
=

70
o
3
Ki
o

fLICE

e
[<)
=

o
S
| 7L &S (X 2= M 20|H 1M97ZHTt 27| F7HX| Am|

£ Mt 20 Gt wseskA| gt

oy
o

4,
Al

=

2

=140)
=
<}

=
* MOT St Q7| TMK| £ Q|27 [RC2 2

f Sl Ol =XAME S HEE
e Lt

A
S
et KA Ofd
2

L
= T

(=1
=

2 o

AH
A
| A

)
w0 1
fol 01
L]

t

o |2 ZZ0| HIF
o
—_
Il

i

. IS
pal

o] 214 1
St
[ |

M 5

A

S EYE S
FA0]
o H

2y

o MEH20| 35°C O|FtC =
AlSH
o=

« H20f ZE(0f 1= - 1
« T2 217}0| Hste|of
« JRIALt R 2tetn |
o I|E7} B0{QEm
o
2

OJII
)

L]

3
az
Xl
[=]

A
a

z0|
(eHIEOlR)
F=in)
(eHiEE)




